

TOYO TIRES

2024 Canadian Junior Championships

Whistler BC Mar 22, 2024 (Fri)

MENS AERIALS OVERALL

Head Judge: HINKEL,Wayne	Course: White Light
Chief of Comp: STEIN, Andy	Head Judge
Г.D.: HARTMAN,Sandra	Chief of Scoring
Chief of Scoring: LINTON, Valerie	T.D.

Date: Mar 23, 2024 (Sat) Aerials Event

(By Score) 2024 Canadian Junior Male Time: 4:19 pm

Whistler BC

No	Bib	Name	Gp	Rep	J.1	J.2	J.3	J.4	J.5	Judge	Manuvr	DofD	Run	Event
	===		==	===		====	====		====	=====	=======		=====	
1	75	PRIMEAU, Elliot	M16	Equ	>1.9	1.9	1.9	>1.5	1.6	5.4				
		·		-	+4.3	¥4.5	≯4 .2	+4.3	+4.5	13.1				
							12 .6							
							_			26.50	bdF	2.675	70.88	
					>2<0	1.9	>1.8	1.8	1.8					
							≯4 √5							
							¥2.7							
							 .			28.00	bг	2 300	64.40	
					20	1 9	1.9	>1/7	1 9		DI	2.500	01.10	
							+4.5							
				-			¥2.8							
					73.0	14.9	12.0	12.0	12.0	28.20	h E	3 300	64.86	135.74
2	70	DAIGLE, Christophe	м1 6	Do1	10	1 Q	1 0	17	1.7		DF	2.300	04.00	133.74
_	70	DAIGLE, CHIISCOPHE	МТО	ver			≯ 4.0							
					1.0		+.0							
					7.0	+.∪	+.∪	+.∪	+.0	18.40	h E	2 200	42.32	
					10	1 0	1.9	10	1 0		Dr	2.300	42.32	
							+4.7							
					+2.5	+Z.L	+2.4	/2 .1	+2.5		1- т	0 050	FF 2F	
					1.0	1 0	1 0	\1_F	1 0	27.00	рГ	2.050	55.35	
				-			1.9							
							+4.4							
					+2.9	+2.8	+2.8	*Z./	+2.7		1- 17	0 200	(1)	117 60
2	67	DUDOTG Telling	341 4	D - 1	1 7	1 7	1/0	1/6	1 (27.10	DF	2.300	62.33	117.68
3	6 /	DUBOIS, Julien	M14	кет			>1.8							
							+4.3							
					+2.3	+2.0	+2.2	+2.3	+2.0				F4 07	
					1.0	1 0	_1_6	1 0	1 0	23.90	DF.	2.300	54.97	
							>1.8							
							¥4.6							
					+2 .9.	+2.8	+2.8	+2.8	+2.8		• =	0 050	F.C. 1-	
						<u> </u>	<u></u>			27.40	ЪL	2.050	56.17	
							1.9							
							≯4 .5							
					+2.6	+2.7	+2.7	-2 5.5.	-2 5.8		_			
					-					25.90	bF	2.300	59.57	115.74
4	68	BARRIERE-DARVEAU,	M14	Rel			>1.9							
				,			+4.4							
					+2 .6.	+2.7	+2.7	+2.7	+2.7		_			
										27.10	bL	2.050	55.55	
							1.9							
					74.7	<i>≯</i> 4.3	+4.4	+4.4	+4.6	13.4				











Aerials Event Male Whistler BC

MENS AERIALS OVERALL

Date: Mar 23, 2024 (Sat) Time: 4:19 pm

(By Score) 2024 Canadian Junior

No ===		Name	Gp ==	Rep			J.3			Judge =====	Manuvr	DofD	Run	Event
					1.8	1.7	1.7 2.8	>1.6	1.6	8.2 27.10 5.0		2.000	54.20	
5	47	UNGER, Quinn	M18	Alb	>2.5 >1.8	+2.5	+4.5 +2.4 1.7	>2.3 >1.5	+2.3	7.2 25.60 5.0	bL	2.050	52.48	109.75
				,	→2.8 1.8	1.8	→3.3 →2.6 >1.9	+2.6	+2.7	8.0 23.50 5.3	bL	2.050	48.17	
					+2.7	+2.7	+4.3 +2.8 1.8	≯2. 5	+2.6	8.0 26.20	bP	2.000	52.40	
6	23	SOLOMON, Mason	M1 6	Pro	≯2. 7	+2.7	+4.3 +2.8 1.8	+2.8	+2.8	8.3 26.30	bL	2.050	53.91	106.31
			0		+4.0	¥4.3 ¥2.7	+4.3 +2.8	+4.0	>3. 9 +2.7	12.3 8.2 25.60	bT	2.000	51.20	
					₹4.3 ₹2.8	+4.3	>4.1 >2.4	+4.1 +2.8	+4.2 +2.6	12.6 8.2 26.00	bL	2.050	53.30	
					+3.9 +2.7	₹4.4 ₹2.8	1.7 +4.3 +2.7	+4.2 →2.6	+4.4 +2.7	12.9 8.1 26.20	bT	2.000	52.40	105.70
7	69	LAPOINTE, Emile	M14	Rel	₹4.2	+4.2	+4.5 +2.2	+4.6	≯4. 7	13.3	bL	2.050	52.48	
					₹4.6	≯4.1	1.8 +4.3 +2.8	+4.2	+4.4	12.9	ЪͲ	2.000	52.80	
					74.1	>3 .6	1.8 +3.7 +2.6	+3.6	+3.9	5.0 11.2 7.9				105.00
8	95	RUDNICKI, Evan	M18	For	+4.1	+4.4	1.9 +4.5 +2.8	₹4.0	+4.2	12.7 8.3			49.40	105.28
					+4.0	≯3.8	1.8 +4.1 +2.5	+4.1	≯4.2	12.2	bT	2.000	52.80	
					>1.9 >4.3	1.8	1.8 +4.0 +2.7	1.6 +4.0	1.7 +4.1	25.50 5.3 12.3	bL	2.050	52.27	
9	40	BARTZIOKAS, Justin	M18	Alb	>1.7 →2.8	1.6 →3.8		1.5	>1.4 +3.3	25.80 4.7 10.5	bP	2.000	51.60	105.07
					>1.1 >3.0	>1.5 +3.3	1.7 >3.8 +2.2	1.5	1.7 +3.2	23.10 4.9 10.1	bF	2.300	53.13	

Filename: 2024_JR_NATS.fre











Aerials Event Male Whistler BC

MENS AERIALS OVERALL

(By Score) 2024 Canadian Junior

Date: Mar 23, 2024 (Sat) Time: 4:19 pm

J.1 J.2 J.3 J.4 J.5 Judge No Bib Name Gp Rep Manuvr DofD Run Event 21.60 bF 2.300 49.68 1.7>1.8 1.8 1.7>1.5 5.2 **→4.0** +4.0 **→4.2** +4.0 +4.1 12.1 +2.4 +2.4 +2.3 +2.3 +2.7 7.1 24.40 bL 2.050 50.02 103.15 M16 For 1.9 1.7 1.7 1.8 87 GOLEM, Jonathan 5.2 **+4.0** +4.0 **+4.3** +4.0 +4.1 12.1 +2.9 +2.8 +2.7 +2.7 +2.8 8.3 25.60 bL 2.050 52.48 ≥1.6 1.6 1.4≥1.3 4.6 +3.1 +3.2 +3.3 +3.0 +3.8 9.6 +2.3 +2.6 +2.5 +2.4 +2.6 7.5 bF 2.300 21.70 49.91 >1.7 1.7>1.3 1.3 4.7 **→2.9 →3.**5 +3.5 +3.0 +3.0 9.5 **>2.**5 +2.4 **>2.**3 +2.4 +2.4 7.2 bF 2.300 49.22 102.39 21.40 83 EDERLE, Maxximus M16 Jas 1.7 1.3 1.8 1.6 1.5 4.8 **>4**√0 +3.9 **>3**√5 +3.9 +3.8 11.6 >2.8 >2.1 +2.7 +2.7 +2.7 8.1 24.50 bT 2.000 49.00 **1.7 1.9 1.8 1.7 1.8** 5.3 **+4.0 +4.5 +4.0 +4.1 +4.2 12.3** +2.7+2.9 +2.7 +2.8 +2.7 8.2 25.80 bL 2.050 52.89 >1√8 1.7 1.6 1.5>1√3 4.8 **→3.**8 +3.7 →3.0 +3.0 +3.1 9.8 **→2.**8 +2.7 **→2.**6 +2.6 +2.6 7.9 bT 2.000 45.00 101.89 22.50 12 M16 Edm 1.7 1.8 1.8 1.6 1.4 84 GOKIERT, Adam 5.1 **→4.1** +4.0 +4.0 +4.0 **→3.9** 12.0 **>2.8** +2.8 **>2.6** +2.7 +2.7 8.2 25.30 bT 2.000 50.60 1.7 1.5 1.8 1.7 1.2 4.9 +3.9 > 3.5 > 4.1 +3.9 +3.8 | 11.6 +2.7 +2.7 >2.8 +2.8 >2.6 8.2 24.70 bL 2.050 50.63 >1.5 1.5 1.4 4.4 **→2.6** +3.3 **→3.**7 +3.6 +3.2 10.1 +2.6 +2.7 +2.7 +2.7 +2.5 8.0 bL 2.050 46.12 101.23 22.50 13 66 CHARTIER, Mathieu M14 Rel 4.6 **>3.**0 +3.6 **>4.1** +4.0 +4.0 11.6 >2.6 >2.8 +2.7 +2.6 +2.6 7.9 24.10 bT 2.000 48.20 **1.6** 1.6 **1.6** 1.6 4.8 **>3.**2 +3.3 **>3.**7 +3.5 +3.5 10.3 >2.3 +2.7 +2.7 +2.7 +2.6 8.0 bL 2.050 47.35 23.10 5.2 +4.0 +4.0 +4.0 +4.1 +3.9 12.0 +2.8 +2.8 +2.7 +2.7 +2.6 8.2 25.40 bL 2.050 52.07 100.27 14 M16 Jas 1.7 1.4 1.5 1.3 71 GULEVICH, Corbin 4.6 +3.9 +4.0 +3.6 +3.9 +3.8 11.6 +2.8 +2.9 +2.8 +2.8 +2.6 8.4 24.60 bP 2.000 49.20 >1.8 1.5 1.8 1.5 >1.1 4.8 11.7 +3.9 +4.1 +4.3 +3.7 +3.6

Filename: 2024 JR NATS.fre







+2.7 →2.8 +2.8 →2.6 +2.7



8.2 24.70



bT 2.000

49.40

Aerials Event Male Whistler BC

MENS AERIALS OVERALL

Date: Mar 23, 2024 (Sat)

(By Score) 2024 Canadian Junior Time: 4:19 pm

No		Name	Gp ==	Rep	J.1	J.2	J.3	J.4	J.5	Judge	Manuvr	DofD	Run	Event
					21.8		1.8		>1:4	4.9				
					₹4.3	+4.1 +2.7	+3.3	}3 √1	+3.2	10.6				
					+Z.8	+2./	+2.6	≯Z∙ ⊃	+2.5	7.8 23.30	hР	2.000	46.60	98.60
15	90	KONKLE, Camden	M18	Ont	1.8	1.5	1.6	>1.4	1.5			2.000	10.00	30.00
						>3√1								
					₹2 58	+2.7	₹2.6	+2.6	+2.6	7.9 22.80	hт	2.050	46.74	
					>1:1	1.7	1.7	1.6	>1:4		пп	2.030	40.74	
					+3.8	74.0	≯3√0	+3.7	+3.9	11.4				
					+2.6	>2 .7	+2.6	>2 .3	+2.6		1- 10	0 000	40.40	
					3<8	1.7	>1<6	1.6	1.8	24.20	90	2.000	48.40	
						+3.7								
					₹2 .6	≯2. 7	+2.6	+2.6	+2.6					
16	03	JARVIS, Dylan	M1 6	Cal	* 7	1.6	*/	1 /	1.4	24.00	pL	2.050	49.20	97.60
1 0	93	OAKVIS, DYIAN	MIO	Cai		+3.9								
						≯2.8				7.9				
					1.0	1 -	1 (1 2	<u>_1_6</u>	23.40	bT	2.000	46.80	
						1.5 >3.9								
						>2.7								
								·		22.70	bL	2.050	46.53	
						1.7 →3.8								
						\$2.7								
										23.70	bL	2.050	48.58	95.38
17	51	NEWMAN, Eric	M14	Cal		$\frac{1.5}{2.0}$			>1/1					
						>3.9 >≥2.1								
										21.30	bT	2.000	42.60	
						1.5								
					4 -	>3. 6 +.0		+3.1						
					1.20		1.0			13.80	bL	2.050	28.29	
						1.3								
						+3.8								
					72.0	72.1	+2.0	+2.0	+2.0	7.8 23.30	bL	2,050	47.76	90.36
18	94	KONKLE, Kallum	M14	Cal	1.5	>1.6	1.2	>1.1	1.2	3.9				
						₹3.6								
					+25.3	>≥2√1	+2.5	+2.6	+2.6	7.7 21.70	b ^ሞ	2.000	43.40	
					1.5	1.5	1.4	>1:1	1.2	4.1	21		10.40	
						+2.5								
					≠2 5.3	>≥2.7	+2.7	+2.6	+2.6	7.9	hp	2.000	40.00	
					1.4	>1.6	>1.2	1.2	1.3		אמ	2.000	40.00	
					+2 .0	≯2.5	+2.0	+2.0	+2.0	6.0				
					72. 4	≯2.	+2.6	+2.4	+2.6		ъ n	2 000	25 00	02 40
19	34	HAMEL, Antoine	M16	Gab	dns	dns	dns	dns	dns	17.50	40	2.000	35.00	83.40
					dns		dns	dns	dns					
		0311MUTHD	V11 C	<u> </u>	dns		dns	dns	dns					
19	77	GAUTHIER-RENAUD, P	M16	Rel	dns dns		dns dns	dns dns	dns dns					
					dns		dns	dns	dns					
19	35	TURCOTTE, Albert	M16	VSC	dns	dns	dns	dns	dns					
					dns		dns	dns	dns					
ш					dns	dns	dns	dns	dns					

Filename: 2024_JR_NATS.fre











Aerials Event (By Score) 2024 Canadian Junior Male Whistler BC MENS AERIALS OVERALL

Date: Mar 23, 2024 (Sat)

Time: 4:19 pm

No	Bib	Name	Gp ==	Rep	J.1 ====	J.2	J.3	J.4	J.5	Judge	Manuvr	DofD	Run	Event
19	45	COOPER, Owen		Fre	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	91	MCMANUS, Darren	M16	Ont	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
10	40			_	dns	dns	dns	dns	dns					
19	43	JOHNSON, Alec	M16	Pan	dns	dns	dns	dns	dns					
					dns dns	dns dns	dns dns	dns dns	dns dns					
19	22	DRINKWATER, Byron	M1 6	Pro	dns	dns	dns	dns	dns					
-		DRIMMITER, BYTON	1110	110	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	39	LABELLA-JOHNSON, L	M16	Fre	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	15	WANDS, Hudson	M14	Bea	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	70	KOEHLER, Bradley	M16	00	dns dns	dns dns	dns dns	dns dns	dns dns					
19	13	KOEHILEK, Bradiey	МТО	QC	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	3	KENDELL, Jackson	M16	Ape	dns	dns	dns	dns	dns					
		·		-	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	70	STIRLING, Garrett	M16	Fer	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
10	0.4	HOLLID Adam	1/1 C	D	dns	dns	dns	dns	dns					
19	24	HOLUB, Adam	МТО	Pro	dns dns	dns dns	dns	dns	dns dns					
					dns	dns	dns dns	dns dns	dns					
19	57	MATTHEWS, Hayden	M16	Cen	diib	uns	unb	<u> </u>	ans				dns	
													dns dns	
19	61	TSANG, James	M14	Whi	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
10	1.0	CE 117777 7 1		2 6	dns	dns	dns	dns	dns					
19	19	ST-ANDRE, Edouard	МТО	Orf	dns	dns	dns	dns	dns					
					dns dns	dns dns	dns dns	dns dns	dns dns					
19	44	MARKLE, Triggs	M1 6	Pan	dns	dns	dns	dns	dns					
	• •	, 111990			dns	dns	dns	dns	dns					
					dns				dns					
19	59	BUCHAN, Fergus	M16	Bow	dns	dns	dns	dns	dns	0.00				
													dns	
							•						dns	
19	86	TREMBLAY, Cardiff	M16	For	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	71	LABRIE, Xavier	M14	St-	dns dns	dns dns	dns dns	dns dns	dns dns					
- "	/ =	TUDITE V VOATET	LIT 4	50-	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	96	GUILD, Simon	M16	Sil									dns	
													dns	
													dns	
19	10	PHILIPPON-FUGERE,	M18	MSA	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
10	104	DITECTION AT a	M1 0	Mos	dns	dns	dns	dns	dns					
الا ا	104	DUFOUR, Alexis	MTR	Mas	dns dns	dns dns	dns dns	dns dns	dns dns					
					dns	dns	dns	dns	dns					
19	11	LATULIPPE, Charles	M18	MSA	dns	dns	dns	dns	dns					
			1110	11011	4110	منتن	4110	4110	منتی					

Filename: 2024_JR_NATS.fre













Aerials Event Male (By Score) 2024 Canadian Junior Whistler BC MENS AERIALS OVERALL

Date: Mar 23, 2024 (Sat)

Time: 4:19 pm

No	Bib	Name	Gp	Rep	J.1	J.2	J.3	J.4	J.5	Judge	Manuvr	DofD	Run	Event
==			<u> </u>	===		====								
					dns	dns	dns	dns	dns					
10	<i>-</i> • •	COLLEGE MI	301 4	D 1	dns	dns	dns	dns	dns					
19	64	GOULET, Thomas	MI4	Rel	dns	dns	dns	dns	dns					
					dns dns	dns dns	dns dns	dns dns	dns dns					
19	32	GAGNON-DESHARNAIS	M1.8	VSC	dns	dns	dns	dns	dns					
	J2	CHONON DEDIMINATIO		150	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	63	TURGEON, Alexy	M18	Rel	dns	dns	dns	dns	dns					
		· -			dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	4	LONGSTREET, Leo	M16	Ape	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
4.0					dns	dns	dns	dns	dns					
19	33	LEMAY, Samuel	MT8	Bel	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns dns					
19	76	BOUDREAU-DUFOUR, G	M1 Ω	Pol	dns dns	dns dns	dns dns	dns dns	dns					
19	70	BOODREAU-DOFOOR, G	МТО	reı	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	7	BRETON, Noam	M18	MSA	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	8	BLAIS, Olivier	M18	MSA	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	9	DUVAL, Maxime	M18	MSA	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
10			1410		dns	dns	dns	dns	dns					
19	36	HELVOIGT,Oliver	M18	Pan	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	80	GUILD, Joshua	M1 6	Sil	dns dns	dns dns	dns dns	dns dns	dns dns	0.00				
1	00	GOTED, GOSHda	1110	311	dns	dns	dns	dns	dns	0.00				
					dns	dns	dns	dns	dns	0.00				
19	21	SKLEPOWICH, Owen	M14	Pro	dns	dns	dns	dns	dns					
		·			dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	20	ST-ANDRE, Matthias	M18	Orf	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	16	CUNNINGHAM, Rowan	M18	Bea	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	50	SULIS, Mathew	M1 0	Bow	dns dns	dns dns	dns dns	dns dns	dns dns					
19	50	DODIE, MACHEW	LIT O	DOM	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	1	VAN SCHALM, Brando	M18	Ape	dns	dns	dns	dns	dns					
	_				dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	89	BOYER LEE, Jacob	M18	Ont	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
19	62	BERNIER, Edwad	M18	Rel	dns	dns	dns	dns	dns					
					dns	dns	dns	dns	dns					
1	100	D007 E11 =:			dns	dns	dns	dns	dns					
7 9	106	DOOLEY, Thomas	M18	Whi	dns	dns	dns	dns	dns					
1)					dns	dns	dns	dns	dns				1	
					dns	dns	dns	dns	dns					

Winfree 2024.03, Canada Rules, Rand=419 @ 4:42p(24-3-21), A (Elim)













